(5 k=27 STUTAUAL Bik]
Ae% 20234 RHBARPEUBRZY D ABERAXS
= B FZH Evi/a—FhHIL
GifER 20234£10H9H
F # BEER—INIL—LFOREE 7R)— Mg
EEB A= 1 X% —5
B= 2488 &8
C= 3 FW x&E
D= 4 /)\& £M
E= 5 XH E¥
R
C R & & #
No. ABCDE ABCDE &t fiI & 'J—4—
2 dkiokk kikik 10 1 P £H HB
3 kkkkk kkkkk 10 1 P HKRK =E
5 kkrkx krkrk 10 1 P BB FH
6 kkkkk xxkkk 10 1 P ¥E #AE
=10
RO
No. 1) —%— IN—kF—
2 £H &5 Rk &F
3 FR E e EF
5 &% #H 25 tBOF
6 J& A EH E=F
#HB ChaChaCha #&H Rumba
No. A B C D EIJBEfE N. A B
2 4 4 4 4 4 4 2 4 4
3222 23 2 3 2 2
511 11 2 1 5 1 1
6 3 33 31 3 6 3 3
HWEEEt
N. C R &5t IEH R
2 4 4 8 4
3 2 2 4 2
5 1 1 2 1
6 3 3 6 3
IRIER
g 2 H&FES V—45— N—=hF—

B {I
¥4I
%24
14
% 341

N —=Whk~O

wW—=N~OCO

BHES & X/

& iz

W =N

BN B 5k

4.8

5

n

™



£
F 241
%3
R s
R 5
R &

A2 DNO WO

BE FH
FR =
Y& A
&H &5
(IT]7S
Bk B

e
R &
fit] BB
B %
NI
Bk

TOF
BF
EF
Che
AEF

R

11117571
11107407
11207213
11107446
11157350
11127546

WWWwwwmw

BER
RHRE
BHER
FER

230
210
190
170



